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�����l���Y�
x = (x1, . . . , xd) ∈ R

d ���#�
‖x‖1 :=

d
∑

i=1

|xi|, ‖x‖2 :=
(

d
∑

i=1

|xi|2
)1/2

, ‖x‖∞ := max
1≤i≤d

|xi|.

� -}� �#�0���#� & �$�
��� � ��� (Rd, ‖ · ‖p)
� p = 1, 2,∞ � � � �����Y�����Y� �W���0��� -�0� -}&�� �0�����$� � �#� & �$��� �Y� d = 2 �1�$�¡ £¢}�0� � �#�0¤�� � � ���#¥0�1¦ Bp := {x ∈ R

d : ‖x‖p ≤ 1}.

�¨§z� � �#�0���#� & �$�
��� � ��� l∞ �#�0� � � � �����Y�����Y� �$��¤ -�©��� & �#� 1 < p < ∞ -C� �#�0���#� & �$�
��� � ��� lp ª�« ¥0¥$��¤ � ���1�0�`�$��¤ -¬@­¯®�°²±#­�³#´C� �#�0���#� & �$�@� � � ����� ��¤��C� � ��� lp ⊂ l∞
� ��� ‖ · ‖∞ ≤ ‖ · ‖p

-
µ·¶C¸ u�¹!x!º
����� � - �©» ( �¼� ��� �©»�½�� ���0��� � ¥ ��� -z& �#� x, y ∈ R

d -Y¾ � �Y�d�
�0¥0¤
‖x + y‖1 =

d
∑

i=1

|xi + yi| ≤
d
∑

i=1

|xi| +
d
∑

i=1

|yi| = ‖x‖1 + ‖y‖1.

‖x + y‖∞ = max
1≤i≤d

|xi + yi| ≤ max
1≤i≤d

|xi| + max
1≤i≤d

|yi| = ‖x‖∞ + ‖y‖∞.

‖x + y‖2
2 =

d
∑

i=1

|xi + yi|2 ≤
d
∑

i=1

|xi + yi| · |xi| +
d
∑

i=1

|xi + yi| · |yi|

≤
(

d
∑

i=1

|xi + yi|2
d
∑

i=1

|xi|2
)1/2

+
(

d
∑

i=1

|xi + yi|2
d
∑

i=1

|yi|2
)1/2

= ‖x + y‖2 · ‖x‖2 + ‖x + y‖2 · ‖y‖2.
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Þ ¥$� « ���0��� � ¥0¥$�}� � �#�àß�áâ� « ��� �$� � ¤�� � á ���Y� � - � � � � � � � �Y� ´ � � ¥0¥$� (xk) ∈ (Rd, ‖·‖∞)� « � ª � � ���#�à¤�� § ��ã -@ä ��������å � « ¥0���[�$��¤��æ���0���f�1�$�Eç «.« � �1�0� � ¤��#�1� « ¥0���#� (xk

i )
�
i =

1, . . . , d
��������� � « � ª � � ���#�à¤ § ��ã -�ä ��������å -�¾ �$�}è � � � �Y��� �Y�é�$��¤ ������� ã ���Y� ´ � - � - ���#�

(xd) ⊆ (Rd, ‖ · ‖∞) �#�0��� � « ¥0���Ü� « �ê� � ��� (xk
i )

�
i = 1, . . . , d

� �#�0��� ä �������àå�¨§ ��ã -·� « � ª � � ���#�à¤�� �n� « ¥0���ë�$��¤ -}¾ � �Y�5�$��¤ (xk) �#�0��� ä ��������åì§ ��ã -p� « � ª � � ���#�1í¤�� � « ¥0���W�0� (Rd, ‖ · ‖∞)
� �1�$� �z� ¥0¥$� p = 1, 2 ���#�0�
¤ �P� � � � � ¥ « � � -Ú¾ �$���¡���#�0�
¤��1�$�ß « ¥0¥$��¤ � ���1�0� � �#�0¤��Y� � á ���Y� � -
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�¨§z� ¢}���$��¤��#�0�1� ����� � � ���#�0���#����� � ��� ‖·‖∞ �#�0��� » « ��� �$��¤ � ���$� � �²îw�#�0¥ ������� -�& �#� ((xn))k ⊆ l∞�#�0��� ä �������àå � « ¥0��� -�¾ � �Y� � ãê�$�É� � îw�#�0¥ ��� � « � ª � � �
�$� � �#� xk
n → yn

� �Y�êï ���Y��� n ∈ N� �Y� k → ∞ - Þ �Yð � � �Y� � �
�0¥0¤ ´
|yn| = lim

k→∞
|xk

n| ≤ sup ‖xk‖∞ < ∞� �#�0��� ä � �$��¤ § ��� ���Y��� � � ¤ � -C¾ ��� � � �$��¤ (yn) ∈ l∞
-& �#� ε > 0

-Y¾ � �Y�ë�Ìñ.�$��¤��$� � ¤ n0 ∈ N
´

|xm
n − xk

n| ≤ ‖xm − xk‖∞ ≤ ε � �Y�æ� ¥0¥$� n ∈ N
� m, k ≥ n0

-
»¡� � § �#¤ ������� ¤��#�Hãê� � �Y�#��ò � �#�Y��ã¼� � ¤ m → ∞ -Y¾ � �Y�ë� ���C� ¥0¤��#�Hãê� �

|yn − xk
n| ≤ ε � �Y�æ� ¥0¥$� n ∈ N

�.� � ¥0¥$� k ≥ n0
-

¾ ��� � � �$��¤ ‖(yn) − (xn)k‖∞ ≤ ε � �Y�æ� ¥0¥$� k ≥ n0
-�©��� ¢}�æ�
�0¥0¤

‖(an)‖l∞ = sup
n∈N

|an| ≤ (

∞
∑

n=1

|an|p)
1

p = ‖(an)‖lp , (an) ∈ lp.
� / �

ó ��� § ��� « ���Y� � ��� « ¥0�
¤é� ��� �0¤ lp ⊂ l∞
-& �#� (an

k ) �#�0��� ä � �0� lp
-Y¾ � �Y�ô�$��¤ (an) �#�0��� ä � �0� l∞

� ª �
¥ - � / ��� - »������Ü�¨§z� �Ìñ1�$��¤��$� � ¤
(bn) ∈ l∞

� �0¤
‖(an)k − (bn)‖∞ k→∞→ 0.

� ( �
� � � - ´ (bn) ∈ lp� �#ã -0´z& �#� m ∈ N

-Y¾ � �Y�d�
�0¥0¤ ´ � � � ����� ¤��
�z� � ��� ï ���Y� ä �[§ ��� ���Y��� � � ¤æ�$��¤�õ �
(

m
∑

n=1

|bn|p
) 1

p

≤
(

m
∑

n=1

|bn − ak
n|p
) 1

p

+

(

m
∑

n=1

|ak
n|p
) 1

p (2)

≤ ε + K,

(



¿�ÀpÁ�Â1Ã�Ä1Å Æ·ÇÉÈ'ÊÌË Í!Ã�ÄYÎ Ï©Ð©Ñ�ÄzÒ�Ó¯Ò�ÄzÒ�ÓÕÔ�Ï©Ð$Ö#×£ØÚÙ@ÛÜÙ�Ï©ØÚÑ�ÝYÙ�Ä
� - � - (bn) ∈ lp

-
� � � - ´ ‖(an)k − (bn)‖p

k→∞→ 0� �#ã -0´ ∀ε > 0∃n0 ∈ N
� ãê�$��� «àö � ´





∞
∑

n≥n0

|ak
n|p




1

p

≤





∞
∑

n≥n0

|ak
n − an0

n |p




1

p

+





∞
∑

n≥n0

|an0

n |p




1

p

≤ ε, k > n0.
��½��

¾ � �Y�ë�Ìñ1�$��¤��$� � ¤é� �����÷� ( �¼� ��� ��½�� � � ε > 0 �#�0� n0 ∈ N
� �0¤

‖(bn) − (an)k‖p ≤
(

l−1
∑

n=1

|bn − ak
n|p
)

1

p

+

(

∞
∑

n=l

|bn|p
)

1

p

+

(

∞
∑

n=l

|ak
n|p
)

1

p

≤ ε

� �Y�¡� ¥0¥$� k ≥ n0
� % �#¥ ��� �^¢p�0���#��� ���C� �¨¤ ª�« � (bn) ãê� � � � �$� � � « ���ë§ �#� � ¤���¤ ö � -tnuwv�xzyY{}|g~dø

¢}�����#� X := C([a, b]) � �Y� a < b
� ��� ω : [a, b] → R

�#�0��� § ��� ���Y��� � � ¤��
���Y� ��� ¤����#� � ¤�� ª ��Y� � � ¤�� « � -�% � � ���#¤����#�
pω(f) := sup{ω(s)|f(s)| : s ∈ [a, b]}.����� % �#¥ ��� � � ���1�0�Y� � �Y���#� �^� ��� �P� � � � ω

� ���#� ��� � ��� � ω−1({0}) � ��¤��#¥0¥$�#����� ��� �0¤ pω�#�0��� » « ��� �$��¤ ö�¨§z� ¢}�^�Ìñ.�$��¤��$� � � ε > 0 � « �ù� � ��� ω(s) ≥ ε � �Y�^� ¥0¥$� s ∈ [a, b]
-!� �#�0���#� & �$�
�ù� � ��� (X, pω)�#�0� � � � �����Y�����Y� �$��¤ -

µ·¶C¸ u�¹!x!º
����� % �#¥ ��� �W¢}�0���#��� ���C� �©¤��#�â�#�0��� �¡» « ��� ���0���ô� �Y�}ï ���Y��� ω � � � � ¥0¥0¤ ö�ú�« ���0¤�� ª �0¤ � ¤�� û « � « ���Ìí�Y�0¤ � ¤ � ���ë�1�$� ¾ � �#�$� � � � �Y�
¥$�#� ���à� �Y�ô���0��� � ¥ ��� �Y� - � - pω

�$��¤ê� �É� � � �#�0���Fû � ¥ § � « ��� -� � è¡�à¤�� � � ����� �#�ô�$��¤��àã � �Y�ô�1�$� ó �Éü ¥0� � � ¤�� « �n  pω(f) = 0 =⇒ f = 0 ¦æ�
�0¥0¤ ö � �#¤ ������� ¤��
ω−1({0}) -
ó ��¤p� � � ó �Y��� � � ª�« � ω−1({0}) �Y� ��� ¤p¥$��� � ��ý����Y�#¤ �P� �É�#�0��� ü « ���0¤�� ª �
����¤��#¤��0����Y� � � ¤�� « � f 6= 0 � « ��� � ��� f(s) = 0 � �Y� s ∈ [a, b] \ ω−1({0}) - ¾ ��� � � |f(s)|ω(s) = 0� �Y�¼� ¥0¥$� s ∈ [a, b]

��§ � � f 6= 0 � � ¥$� « �$��¤ pω
� �#�0��� » « ��� - è � ��� � � �Y� ¤������ �Y� �#��ãê� ��� ���� � ��� pω

� �#�0��� » « ��� �$��¤ -Y¾ ������� ��� « ¥0�
¤æ�1�$�F¢þñ1�$��¤��#�Y�^�#�0��� � ��¤��#¤��0���#� �Y� � � ¤�� « � f 6= 0� �0¤ ω(s)f(s) = 0
-Y¾ ��� �C� ¥ § �
�0¥0¤ [a, b] \ f−1({0}) ⊆ ω−1({0}) -C¾ �$���ê���#�0�
¤é� � �����.� � �ó �Y��� � ��� ª�« � ω−1({0}) �Y� ��� ¤F¥$��� � �$��¤ -�� � � ���É� �#�1� � �����#��� ´ pω

�$��¤@�#�0��� » « ��� ���#� ���� � �Y�dã¼�#�Y� ω−1({0}) ¥$��� � ��� ó �Y��� � ��� �C� ¤ -�¨§z�l»������ Þ � �¨� ��§ � ����� �$��¤ pω
�#�0��� » « ��� -1& �#� (fn) ⊆ C([a, b]) �#�0��� ä �������àå � « ¥0��� § �#� � ��í¥0� ��� pω

-�¾ � |fn(s)−fm(s)| = |ω(s)fn(s)−ω(s)fm(s)|/ω(s) ≤ pω(fn−fm)/ε � ���C� ¥ÿí¤��#�nãê� � ��� � ��� (fn) �#�0��� ä ��������å � « ¥0��� § �#� � �
¥0� ��� �Y� � & �YüY� � �^�Y� ��� « ��� �$��¤ -
¾ ����ã¼�#���#�� « � ª � � �
�$� � ¤n���$� ������� �0� (C([a, b]), ‖ · ‖∞) ���#���#�ì�#�0� f
- Þ � �É�Y� � � ��� ���Y��� � � ¤ � �#�0¤ª�« � ω � « ¥0�
¤ pω(fn − f) ≤ supω · ‖fn − f‖∞ � � ����ãê� � � ���C� ¥0¤��#�â�1�$� � � �C���Yü ¤ � �Y� ´

pω(fn − f) → 0
- � � � � � � � �Y� ´ ã � �æãê� � �#�0���#�à¤�¥0� ���H§ �#ãê�$�����#� �C��§ �#���Y�$��¤é�1�$����� � � ª � í¥$�#�Y�^�Y� � ��ã²�#� » « ��� �#� -

½
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tnuwv�xzyY{}|g~��

& �#� Lip([0, 1]) := {f : [0, 1] → R : f � � ü � ��� �0¤��#í���¤��#¤��0� } - �w�Y� f ∈ Lip([0, 1]) ���#�
‖f‖Lip := |f(0)| + sup

x6=y

∣

∣

∣

∣

f(x) − f(y)

x − y

∣

∣

∣

∣

.

� �#�0���#� & �$�
��� � ��� (Lip([0, 1]), ‖ · ‖Lip) �#�0� � � � �����Y�����Y� �$��¤ -µ·¶C¸ u�¹!x!º & �#� f, g ∈ Lip([0, 1])
-

‖f + g‖Lip = |f(0) + g(0)| + sup
x6=y

∣

∣

∣

f(x)+g(x)−f(y)−g(y)
x−y

∣

∣

∣

≤ |f(0)| + |g(0)| + sup
x6=y

∣

∣

∣

f(x)−f(y)
x−y

∣

∣

∣
+ sup

x6=y

∣

∣

∣

g(x)−g(y)
x−y

∣

∣

∣
=

= ‖f‖Lip + ‖g‖Lip.¾ �$� � ���Y� � �#�^¢}�0���#��� ���C� �©¤��#�W�#�0��� �w» « ��� ���0����� « ��� ¥$�#� ��� ¤�� � � � ���#�0���#� -�& �#� (fn) ⊆ Lip([0, 1])�#�0��� ä �������àå � « ¥0��� � ��� x ∈ [0, 1]
-zó ��� § ��� « ���Y� � ���
�0¥0¤ ‖fn‖Lip ≤ K < ∞ - ¢}�é�
�0¥0¤

|fn(x) − fm(x)| ≤ |(fn(x) − fm(x)) − (fn(0) − fm(0))| + |fn(0) − fm(0)| ≤
≤
(

‖fn − fm‖Lip − |fn(0) − fm(0)|
)

x + |fn(0) − fm(0)| ≤ ‖fn − fm‖Lip ≤ ε,

� � ¥0¥$� n,m � � « ð ���#� � �É���0��� -1¾ ��� � � fn(x) → g(x) �.�Y�#�Y� fn(x) �$��¤��#�0��� ä �������àå � « ¥0���
� � ¥$� «� « � ª � � ���#�à¤ -& �#� ε > 0
- ¢}�æ�Ìñ1�$��¤��$� � ¤ n0 ∈ N

� « �Y� � ��� ‖fn − fm‖Lip ≤ ε � � ¥$� «
|(fn(x) − fm(x)) − (fn(y) − fm(y))| ≤

(

‖fn − fm‖Lip − |fn(0) − fm(0)|)|x − y| ≤ (ε − |fn(0) − fm(0)|
)

|x − y|,
� �Y�¡� ¥0¥$� x, y ∈ [0, 1] � n,m ≥ n0

-C& �#� x, y,∈ [0, 1]
� ���ô¥ � ����� n → ∞ -Y¾ � �Y�ë� ���C� ¥0¤��#�dãê� �

∣

∣(g(x) − fm(x)) − (g(y) − fm(y))
∣

∣ ≤
(

ε − |g(0) − fm(0)|
)

|x − y|,
� - � -

|(g(x) − fm(x)) − (g(y) − fm(y))|
|x − y| + |g(0) − fm(0)| ≤ ε,

� � ¥0¥$� m ≥ n0
-Y¾ �$���ê���#�0�
¤ fm

Lip→ g
- � � �������0�d�Y� � « § �0���#�ëèæ�Y�
¥$�#� ���à� �Y� m ���#���#� ∞ ��� � �#����Y�

g ∈ Lip([0, 1]) � � � ���C� ¥0¤��#� -
�	� j�
zq^r�jloWs

tnuwv�xzyY{}|
�g�
& �#� f ∈ C1(R+)

� �0¤ f ≥ 0 � ‖f‖∞ = 1
� ��� f(x) = 0 � �Y� x > 1

2

-C� �#�0���#� & �$�
��� � ���

�
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����� ∃K > 0

´
max0≤x≤1 |un(x)| ≤ K � n ∈ N

-
�¨§z�

max0≤x≤1 |u′
n(x)| n→∞→ ∞ �

ã « § �#� un(x) = cnf(nx)/n
� �0¤ cn > 0 � « �Y� � ��� ∫ 1

0 |u′
n(x)|2 dx = 1

-¬@­¯®�°²±#­�³��z� �#�0���#� & �$�F� � � ����� ��¤���� � ��� cn > 0
� �0¤ ∫ 1

0 |u′
n(x)|2 dx = 1 �Ìñ1�$��¤��$� � ¤ -µ·¶C¸ u�¹!x!º � � � - ´ cn

n→∞→ ∞� �#ã -0´�¾ � f �Y� ��� ¤ � « ����¤ � ��¤w�$��¤����Ìñ.�$��¤��$� � ¤ x0 ∈ (0, 1)
� �0¤ f ′(x0) 6= 0

-�% �#���#�l�Y� � & ¤��#¤��0� � �#�0¤
ª�« � f ′ �Ìñ1�$��¤�� � ¤ ∫ 1

2

0 |f ′(y)|2 dy
� �����$��¤ � �Y�
¥$�#� ��� 0

� � � ����� ¤�� ´ f ′(x0) 6= 0
� -

1
!
=

1
∫

0

|u′
n(x)|2 dx =

1
∫

0

c2
n|f ′(nx)|2 dx

y=nx
=

n
∫

0

c2
n

n
|f ′(y)|2 dy =

1

2
∫

0

c2
n

n
|f ′(y)|2 dy.

Þ ¥$� « � cn = (n/
∫

1

2

0 |f ′(y)|2 dy)
1

2
�1�0��� § ��� « ���Y� � �F�Ìñ1�$��¤��$� � ¤ cn > 0

� �0¤ ∫ 1
0 |u′

n(x)|2 dx = 1
-

� � � - ´ ∃K > 0 : max0≤x≤1 |un(x)| ≤ K� �#ã -0´
max

0≤x≤1
|un(x)| = max

0≤x≤1
|cnf(nx)/n| ≤ 1√

n
.

� � � - ´max0≤x≤1 |u′
n(x)| n→∞→ ∞� �#ã -0´�¾ � f �Y� ��� ¤ � « ����¤ � ��¤æ�$��¤��Y�Ìñ1�$��¤��$� � ¤æ�#�0� x0 ∈ (0, 1)

� �0¤ f ′(x0) 6= 0
- ¢·�ê� « ¥0�
¤ê� � � ´

max
0≤x≤1

|u′
n(x)| = max

0≤x≤1
|cnf ′(n)| ≥ cnf ′(x0)

n→∞→ ∞.

tnuwv�xzyY{}|
�Hø���Y�
a < b ���#� X := C1([a, b]) := {f ∈ C([a, b]) : f ��¤��#¤��0�P�1���ù� � �#�Y���$� ��§C��� �0� [a, b]} - ���Y�

f ∈ X ���#�
p1(f) := sup{|f(s)| : s ∈ [a, b]},
p2(f) := sup{|f ′(s)| : s ∈ [a, b]},
p3(f) := |f(a)| + sup{|f ′(s)| : s ∈ [a, b]}.� �#�0���#� & �$�

�����
p1

�$��¤é�#�0��� » « ��� ��� � X � p2
�$��¤ � �#�0��� » « ��� ��� � X

-�¨§z�
(X, p1)

�$��¤ � �#�0� � � � �����Y�����Y� -�©���
(X, p3)

�$��¤é�#�0� � � � �����Y�����Y� -
µ·¶C¸ u�¹!x!º
�����

p1
�$��¤��#�0��� » « ��� ��� � C([a, b])

-
X �$��¤��Y�������#�[è¡�à¤�� �������Y� � � ¥$� « �$��¤ p1

�#�0��� » « ����������g��� � X
- � �#¤ ������� ¤��É�#�0��� � « ����¤ � ��¤�� ��� � � ¤�� « � f 6= 0

-C¾ � �Y� f ′ = 0 � p2(f) = 0 �� ¥$� « � � �Y� p2
� �#�0��� » « ��� ���#�0� -

�



¿�ÀpÁ�Â1Ã�Ä1Å Æ·ÇÉÈ'ÊÌË Í!Ã�ÄYÎ Ï©Ð©Ñ�ÄzÒ�Ó¯Ò�ÄzÒ�ÓÕÔ�Ï©Ð$Ö#×£ØÚÙ@ÛÜÙ�Ï©ØÚÑ�ÝYÙ�Ä
�¨§z�

X �$��¤¼�Y� ��� ¤ ��§ ����� ��� ¥ « �����#�ô�0� C([a, b]) � � ¥$� « ������� � �#�0� � � � �����Y�����Y� -Y% ��� ¥$� � �$� � � �� - � - a = b = −1
� ��� fn(x) =

√

x2 + 1
n

-
�©��� ç�¥ ��� � � ��� p3

�#�0��� » « ��� �$��¤ -& �#� (fn) ⊆ (X, p3)
�#�0��� ä ��������å � « ¥0��� -@¾ � �0��� § ��� « ���Y� � � (f ′

n) ⊆ C([a, b]) �#�0���ä �������àå � « ¥0���l�0� C([a, b]) �$��¤��Y�Ìñ1�$��¤��$� � ¤ g ∈ C([a, b])
� �0¤ f ′

n → g � �Y� n → ∞ -Þ �Yð � � �Y� � �$��¤ (fn(a)) �#�0��� ä � �0�
R
-ù¾ ��� � � �Ìñ1�$��¤��$� � ¤ A ∈ R

� �0¤ fn(a) → A � �Y�
n → ∞ -p& �#¤���� f(x) :=

∫ x
a g′(s) ds + A

-þ¾ � �Y� �$��¤ f ��¤��#¤��0� �1���ù� � �#�Y���$� ��§C���P� �0¤
f ′ = g

� Þ � � ¥ å ���$� ó � - »������ ç « ����¤ ��� � ¤�� « �ë�
�0¥0¤ fn
p3→ f

-

*


